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() sin0° = cos0° = tan 0°

© sin45° = cos45° = tan 45°
© sin90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

@ sin0° = cos 90° = tan 90°
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o2 2™ A £C = 90° Y o,
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of tfste] /DAB = x, /ZADB =y, /DEC = z
y

e & o, o F &A1 42 A7

@ siny =sinz @ tany = tanz

® tanx = CE @ cosz=sinx

® cosz=1
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O 6.82

T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314
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H|o) & Hilg 9 &

T sin x cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724
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a3 sin z cos tan z
438° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724




Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355
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® tanx =DE @ siny = AB
@ sinz=AB ® cosz=BC

® tany =
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0°<x<45° 4 o, V1 -2sinxcosx— V1 + 2sinxcosx & 7t

Stojet,

D S
=%

3]



13. thg 299 A% APRE WAS ] Zol7h 1 oln F4Zke] 2717}
90° o]tk DT @ $£9] WolE T8 F @- D] ghe?

Q

=




14.

tan(A — 15°) = 1 ©]4l, x? — 2xtan A — 3(tan A)?> = 0 9]
TEFH? (00 < A <90°)

@ 3+v3, 243 @ -3, 3V3 ® 23
@ 23, V3 ® -3, -3v3
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15. o3 23 Zo] vix]&2] dol7t 1 2l
AFEQ A OC = 0.59 € ©f, CD ¢ 4
o] & -5 ?

D
11/
Il
/
/
I
z 1
0) C
2Zte Al FALOI EtHE
53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1,43
56° 0.83 0.56 1.48
D 0.57 @ 1.38 ® 0.59 @ 0.82 ® 0.81




